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[3. PRACTICE FUNCTION NOTATION |

Let f(x) = x? — 3x + 4.
3A. Find the value of f(2).
3B. Find the value of f(2 + h).

3C. Find the average rate of change between points (2, f(2)) and (2 + h, f (2 + h))
3D. For any constant g, find the average rate of change over interval (a, f(a)) and (a + h, f(a + h))
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(4. SOLVE QUADRATIC EQUATIONS |

Consider the following quadratic equation:
x% + 6x =16

4A. Solve this equation by using the standard form and factoring.

&MGJ\\ ™M ¢ mortes malke MOM\j A\l

Recall +hat tre stand ared form

“

of a qva(}mh‘c @c{uaﬁm ¥

gwer\ as

L a x° tbx +¢ =0

To ge'lr Mts C’qua’\}«\ in  stondoe Torm We gd’

A r;(?h}/hmc( side +0 be Zero

x> 4+ 6x = b
~-16 A
=) «T o+ 6 X |6 = O
a x- L bx + C
= %= L b #+ =lb = O
a= | / bt(’ ) E B sk
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4B. Solve the equation
x%+6x =16

using the method of completing the square.
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4C. Use our graphical method to solve the equation x* + 6x = 16
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5 GRAPHING PIECEWISE FUNCTIONS |
Consider the piecewise function below:

— picce H2: -1e X <2
< it B IE0

Using this description, fill out the table of values below and then graph the function

fl) =

Input Output ‘
cff i, wll, o BTl 3 4 5 6
= i £(x) 32 32
{ SRT— 30 30
— — ) -
26 - 26
24 24
22 22
20 20
- 18 18
: 16 16
v 14 14
v 12 12
S 10 10
8 8
6
4 gg 4
2 8
y = 0% P r-axis
D -2
i = 3 il L ~&—‘ g
-6 -6
( ) 0 - [_‘ -8 ~8
v -10 -10
¥ =12 w12
p X 1 ~14 ~14
2w -3 ~16 ~16
~18 48
~20 ~20
2 ~20
-24 ~24
—26 -26
-928 -28
-30 ~30
~32 ~32
~6 =5 =4 -3 -2 -1 0] 1 3 4 5 6
x:0
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6.  ANALYZE THE GRAPH OF A PIECEWISE FUNCTIONS |

The following is a graph of a piecewise defined function g(x).

Find the formula (rule) for each part of the function and the x-values for which it applies. Explain your
reasoning.

}iS2lpm — Zfogpm
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| 7 PRACTICE FACTORING USING THE AC-METHOD |
Use the AC-Method to factor each of the polynomials given below. For a reminder about using the AC Method
to factor a quadratic polynomial, check out the Factoring Review Sheet.

TA. 12x2%2 4+ 5x — 2
7B.  9x*+ 6x3 — 3x?

To factor USing the  AC MeMed w.ll U e

A 4 we
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